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QUESTION 1

How do you quickly invoke the composition navigator flowchart?
A. press U

B. press F10

C. tap the Shift key

D. tap the space bar

Correct Answer: C

QUESTION 2

If After Effects displays an alert message indicating that it requires more memory to display or render a composition,
what should you try first to remedy this?

A. quit After Effects, restart your computer, and then launch After Effects

B. go to Preferences > Memory and Disk Cache, and select Enable Disk Cache

C. go to Edit > Purge > All in order to delete all the RAM Pr eviews and cached frames

D. go to Preferences > Memory and Multiprocessing, and decrease the RAM to leave for other applications

Correct Answer: C

QUESTION 3

A layer has an expression that creates random movement. To quickly test the results of the expression over just a few
frames, what should you do?

A. press space bar

B. press 0 on the number pad

C. press period on the number pad

D. press SHIFT + 0 on the number pad

Correct Answer: A

QUESTION 4

Which three effects can use the native After Effects comp camera? (Choose three.)
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A. Foam

B. Shatter

C. Basic 3D

D. Card Wipe

E. Card Dance

F. Particle Playground

Correct Answer: BDE

QUESTION 5

Which would be a valid example of the expression sh own?
A. wiggle(10)

B. wiggle(10, 20)

C. wiggle(10 fps, 20)

D. wiggle(10, 20, 1, .5, 5 seconds)

Correct Answer: B

QUESTION 6

Which statement is true about typing the string Anchor in the Quick Search option of the Timeline panel when no layers
are selected?

A. No Anchor Point properties will be revealed.

B. All Anchor Point properties for all layers will be revealed.

C. Only keyframed Anchor Point properties will be revealed.

D. Anchor Point properties for hidden layers will not be revealed.

Correct Answer: B

QUESTION 7

Which layer blending mode should you use when you wish to keep the lowest transparency value where multiple masks
intersect?

A. Darken

B. Lighten
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C. Intersect
D. Subtract

Correct Answer: A

QUESTION 8

You are interpolating between two keyframed mask shape paths by using the Sm art Mask Interpolation panel. Which
option in the Smart Mask Interpolation panel lets you control how Smart Mask Interpolation matches vertices one
keyframe to another keyframe?

A. Quality

B. Matching Method

C. First Vertices Match

D. Bending Resistance

E. Add Mask Shape Vertices

Correct Answer: A

QUESTION 9

You have imported a layered Photoshop file into your project as a single footage item with merged layers, placed itin a
comp and duplicated it. Now you wish to make changes to only one instance of the footage in the composition by
deleting one of the layers within it. What should you do?

A. select the footage item in the Project panel and choose File > Replace Footage > With Layered Comp

B. select the footage item in the Timeline panel, choose Layer > Convert To Layered Comp, and double-click the
resulting nested comp

C. delete the file from the Project panel, re-import the file and select "Import as Composition”, choose Open, then place
it back in the timeline

D. delete the file from the Project panel, re-import the file and select "Import as Composition- Cropped Layers", choose
Open, then place it back in the timeline

Correct Answer: B

QUESTION 10

You wish to disable thumbnails in t he Project panel to conserve system resources in a large project. Which option in the
After Effects Preferences dialog lets you complete this task?

A. General

B. Display
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C. Previews
D. Appearance
E. Memory and Multiprocessing

Correct Answer: B

QUESTION 11

You wish to animate a path to create a write -on effect. Which path operator should you choose from the Add pulldown
menu next to the shape layer in the timeline?

A. Twist

B. Trim Paths
C. Offset Paths
D. Merge Paths

Correct Answer: B

QUESTION 12

You wish to create a looping animation that uses two key frames, returning to the first keyframe automatically upon exit
of the second, for the infinite duration of the layer to which the expression is applied. Which loop expressions should you
use?

A. loopOut(type = "Offset", numKeyframes = 2)

B. loopOut(type = "Cycle", numKeyframes = 2)

C. loopInDuration(type = "Pingpong", duration = 2)

D. loopOutDuration(type = "Continue”, duration = 2)

Correct Answer: B

QUESTION 13

Four overlapping masks with different Mask Opacity values have been created on one layer. You have applied the
Lighten blending mode to each mask. What will be the result in the Layer panel?

A. Overlapping areas will build up Mask Opacity values and clip at 100%.
B. Only the shape with the lowest Mask Opacity value appears in the Layer panel.

C. Only the shape with the highest Mask Opacity value appears in the Layer panel.
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D. Overlapping areas are only as opaque a s the mask with the lowest Mask Opacity value.
E. Overlapping areas are only as opaque as the mask with the highest Mask Opacity value.

Correct Answer: E

QUESTION 14

When should you choose to use standard preview (spacebar)? (Choose two.)
A. when you wish to preview using only the Wireframe view

B. when you do NOT have enough memory for RAM preview

C. when your composition is larger than 2000 pixels x 2000 pixels

D. when you want to start the preview playback from the current time

E. when you only need to playback video and do NOT need to hear sound

Correct Answer: DE

QUESTION 15

You wish to keyframe the Position and Rotation values of a Photoshop Live 3D file that you have imported into a project
as a composition. Where are the Position and Rotation properties that can be keyframed located?

A. the Photoshop Live 3D layer

B. a Null layer in the composition

C. the Camera layer in the composition

D. expressions on the Photoshop Live 3D layer

Correct Answer: B
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